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Part—-l (Botany)

(2AAT = 2 Tfew Feai=)

1. What is meant by Clone ? 1
4 IF @i
2. Define the term Apomixis. 1

SALICT 3T f) |

3. How the ages of fossils are calculated ? 1

GIRAMNE T (S W 9 292

4. Write the scientific name of the microorganism used to produce

ethanol. 1

U SRS FRIAC RN I TSR [ s q S
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5.

What is Triple Fusion ? Name the nuclei involved in triple fusion.

feiceret < @i fReine it Rt Tyes am Fe)
OR/ &3

Explain any two outbreeding devices that flowering plants have

developed to encourage Cross Pollination.

Wwwm@mﬁw%wm%ﬁ%mﬁ@m@
2T T 91 51 |

Mention four objectives for improving the nutritional quality of crops

£ 3
by the process of biofortification. 2

*R AT G AT Sl 41 LG TR Iae 22 5755 g
T 9 |
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OR/ @24t

What is totipotency of the cell ? What is the importance of totipotency

in Plant Science ?

(PR ATl FIF @i ? Sfgr [eivs ssjfomren ooy 2

7. Write a brief note on Biochemical Oxygen Demand. 2
(SRS SIfESH Sifznl (BOD) T=4tE @ vy (Gl i |
OR/ &2

What are Antibiotics ? Name fwo microorganisms used to produce

antibiotics.

ST MR 2 dfotaiie Mg age a1 77y GRS A o2 |

8. How the insecticidal proteins act on Pest ? 2

BACHIE0R0Te o B SRS (FEE @l =2
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- Describe briefly about Bioreactors.

AW REFT T S 30 41
9. What is Single Cell Protein (SCP) ? Name two algae used to produce
SER 2
SR 20 2 SCP eige wRata T9RT T 77 CFIET AN el
OR/ 521

Write an account on the role of microbes in biogas production.

TS (o1z Teoivas SETRE Sl T=IcE a5l (Gl feri|

10. Explain briefly : (any one) : 2

ST TR <1 8 ([ e 9by)

(a) Molecular diagnosis.

e f@wie |
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(b) Molecular Scissors.

s &0 |

11. What is Mutualism ? Explain mutualism with suitable examples.
3

AR FIF (@IE 2 SHYS Trigsel 7T AQAPITO! 7=94F 3 341 |
OR/ 531

How do biofertilizers enrich the fertility of soil ?

GRANE (e g SReol Jia F?

12. Write the scientific names and parts used of following plants.

were il Sfen FaEs (el I S IES S I
(a) Tulsi

oGl
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(b) Kalmegh

B

(c) Bahak tita.

299 |

OR/[ @&t

Write a note on adaptation of plants to water scarcity.

GRS A SIeCH ST 4l SSrITPTES [ac @b Gl sl
13. Discuss the methods of breeding for disease resistance crops.

T @ AfSEE AR T AT Awo RS [ A F |
OR/ &i23Y

What do genetically modified organisms (GMO) do to the food ? How

do they useful to us ?

SRS e GRee e e s FRe @Ets SN i
GATNEN 2
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14. Describe the post fertilization changes in embryo sac.

= v =dige WRIbe @Rl AR g 7o w9
OR/ g5t

Discuss the biotic and abiotic agents of Pollination with suitable

examples.
CHRE CHIZIIAE wmﬁaéﬁfﬁﬂwmﬁﬁmwwﬁmw

9

- 15. Write a brief account of evolution. 5
FerE b 5 [Kewet i
OR /[ o521

What is Population Growth ? Write an account on exponential growth

model of population.

SR Ifa S @I 2 SRS e & Frel R 266 3= |
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Part—ll (Zoology)
(Fasra =izl ¢ 2ndRs)
1. Fill in the blanks : (any two) 1x2=2

e OB A= =4 ¢ ([ et wor)

(a) cells present in mammalian testes help to nourish

sperm.

@I Q@I FAIT AT SRR Sl ([ 2ff® @S
SRR A

(b) The genes located in Y chromosome are called

Y SRS 9 G RS ClaRsRIE

(c) The major reservoir of carbon on earth is

R IR Y SR T

(d) Typhoid fever can be confirmed. by test.

GiRFIC g S viel FRve S92 |
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2. Answer any two : : >2=2.

[ e 7oi9 Ses foel ¢

(&) Why sperm contain mitochondria ? -

WS T 20 T A

(b) What are Okazaki fragments ?

S A8 @R F2

(c) What are the two basic amino acids which are found in high
amount in histone protein ?

- R AT (I 2R TRFR GFRGbr SR AR o e

(d) What is transgenic organism ?

CEACSS 7 (2

3. Answer any four : 2x4=8

R e Difsbis ©es =2l ¢

(@) Describe the formation of Placenta during pregnancy.

FSLFEIT TS SN 510 A6 9 |
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(b) Why coacervates were called primitive cell ?

(FRGRCSS @RS [ =fta @17 o1 @[t e e

(c) Write the applications of DNA fingerprinting.

fG.a.q. Reeolafafee e g e

(d) What is Amniocentesis ? Why does amniocentesis is banned ?

I BbhR 2 [0 @afier oz Fikm a1 tarme

(e) Define chromosomal theory of inheritance.

ST T TN wer Few T2

(f) What is Red Data Book ? Which endemic animal of Assam is

presently listed in Red Data Book ?

(ST Ol 35 2 PN (@Y B eifie T6uE @@ Ot 55w

TEYE B! (3022
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4. Write differences between : (any two) 2x2=4
i e ghrg Ny v
(.:a) Homologous organ and analogous organ
B RS RO SR P R
(b) Linkage and crossing over
BEGRIS IS SRS
(c) In-situ conservation and .Ex-situ conservation
FeFI T O AR AT

(d) Plasmid DNA and Chromosomal DNA.

GG ... e NG NT B..q. |

5. Express diagrammatically the various phases of spermatogenesis.
3

Wt AfEAN [ied wl A2 T o 9
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OR/ &Y

Diagrammatically express the mechanism of transcription in
Eukaryotes. 3

ACIAEH T (TS o1oes Afrm i@ o4 390 |

What is Human Genome Project ? Write functional aspects of human
genome project. 1+2=3

SR & ails 2 52 g @ @lib s Seal MR oril|

OR/ o1%<t
What are the different types of RNA Polymerase found in the nucleus
of eukaryotes ? State function of each of them.

1%2+1%2=3

WEEERE N @ (ns [ion 258 IR .9, ARNEsER (2
33w AR I B 49|
What is Food Chai_n ? Mention the basic characteristics of food chain.

1+2=3

A #34E o2 Ay PRI o @Y TR SoE <5 |
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What is Multivoltine ? Write the scientific names of two silkworms of
Assam with their host plants. 1+2=3

TR 52 SPRR 799 (@ AR (AT Ciew Hg Qe a6 |

8. ‘DNA is a genetic material’, explain the statement with the help of
Griffith’s experiment. 5

‘RWeqa. 25 @3 TGaw 55 O Rikres sKm5R 72Tse e 5901
OR/ T4

What is Genetic Code ? State the principal features of genetic code.
1+4=5

i AT 52 &7 ACTOT e @D TR Bk 74 |

9. What is Sexually Transmitted Disease (STD) ? What are the primary
symptoms of AIDS ? Discuss the methods of preventiqn of AIDS.
1+2+2=5

T RS (qil 2 @30T 2ffiF TR & {52 @gug aferi SHm
E A |
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What are the harmful effects of drugs ? Discuss the various means
of prevention and control of drug addiction. 2+3=5

N T F oINS 2 @R 72 WS u S eiferia s HaEes
RfSa SR 2 SC=Iv 1|
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